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1. How can we further improve the efficiency of Apriori-based mxnmg% R@[@D’frks ]

2. What can we do to secure the privacy of individuals while collecﬁngazand mining data? [3 Marks] ‘
- 3. Consider the Transactional Data for an all electronics br Jg%g’shown below:
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Mine the frequentﬁ;%\msgts%éging vertical data format and consider the minimum support as two for
this problem. [Q?Mai“lgg]
F 2% 4. Outh o~ﬁavo example of data mining for each one of them as mentioned below:
a.g Reta dustry b. Telecommunication Industry c. Biological Data Analysis [3 Marks]

% . . .
5 %g%%z der a database has five transactions. Let min sup = 60% and min con f= 80%.

é
%&@& TID Items_bought
3 T100 { M,O,NKE,Y}
T200 {D,ON,K,E,Y}
T300 {M,A,K,E}
T400 {M,U,CK,Y}
T500 {C,0,0,K,LE}

Find all frequent itemsets using Apriori and FP-growth, respectively. Compare the efficiency of
the two mining processes. [10 Marks]




